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- (3) Buddhism

Which of the following texts has not
been written by Kurribha ?

(1) Rasikpriva - -

(2) Sudha Prabandh-

" (3) Nrityaratmakosh ..

4 Kalanidhi

jamanadas. Chhotelal, Baksaram and
Nandalal are associated with which of
the following styles of painting ?

(1) AlwarStyle (2) Bikaner Style
(3) Marwar Style {4) Jhalawar Style

Over which of the following territories
of erstwhile Rajputana did the Varik
dynasty ruie ?
(1) Badnaur
(3) Bayana

(2) Osian
(4) Alwar.

- The Gogé Navami is called

(1) The navami (ninth day) of the Krishng
Paksh (dark fortnight) of Bhadon 6"
month of the Hindu calendar) -

- (2) The navami (ninth day) of the Krishng
 Paish (dark fortnight) of Shravan (5*

month of the Hindu calendar)
(3) The navami (ninth day) of the Shukla

Paksh (moonlit fortmight) of Bhadon

(6™ month of the Hindu calendar) -

(4) The navami (ninth day) of the Shukla
Pal{\:sh (moonlit fortnight) of Shravan
(3" month of the Hindu calendar)

Tejaji Fair is org'anised at
(1) Merata (2) Goth Manglod
(3) Parbatsar (4) Nagaur

The Veer Bharat Society was
established at Kota by

" (1) Pyare Ram (2) Sadhu Sita Ram
(3) Nayanu Ram (4) Kesari Singh -

Kshetrapal has been an important
aspect in the culture of Rajasthan as
(1) Village Deity

(2) Village Officer

(3) A Devotee

(4) A Saint

The sect - which believed in abiding
nature of destiny :
(1) Ajivakas (2) Charvak

(4) Jainism
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10.

H,

Match the following :

Architectural Style Associated
Dynasty
A. ‘Lotus bud’ fringe i. Shargi
on the underside of
the arch
B. Emergence of 1. Vijay-
octagonal tomb nagar
C. Use of Bodegoi in iii. Khaljis
- the pillar
D. Massive entrance gate iv. Tughiugs
- with inclined walls
Codes : '
AUPB NC O
(N i i v i
2y i 1. iv i
(3) i i v i
4 i v i
Which  amongst  the following
statements

is/are true about V.D.

Savarkar ? :

(1} He founded Abkinav Bharat — A
revolutionary organization.

(ii) In order to inspire Indian
~ nationalist he wrote the biography
of Mazzini.

(iii) He also authored “The Indian War
of Independence — 1857 which
provides nationalist view of the

. revolt of 1857. '

(iv) He jumped into the sea from the
sailing ship in order to escape
British captivity.

Choose the correct answer :

(1) Only (iii) and (iv)

(2) Only (1), (iii} and (iv)

(3} Only (i) and (iv)

(4) (i), (ii), (iii) and (iv)

16 Janpadas  of the age of
Mahajanapada  have often been
mentioned in the Buddhist literature.
Which of the following Janpadas have
been mentioned by Paninj in his
Ashtadhvavi ? ' '

A, Magadh B. Ashmak
C. Kamboj . D. Chedi
- E. Vatsa

Select the correct answer using the
codes given below :
(1) D&E

(3) ALCLD&E

(2) C.D&E
(4 AB&C
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12.

13.

14.

16.

17.

Which of the following match is not
correct in regard- to the origin of
Harappan civilization ? _
(1) E.J.H. — Migration of
Mackay - people trom Sumer
(2) Mortimer - Migration of ‘idea
Wheeler _ of civilization’
from West Asia.
(3) Amalananda — Pre-Harappan
Ghosh culture matured to
make Harappan
civilization

(4) M. Rafique - Harappan

civilization was
inspired by
Mesopotamian
civilization

Mughal

Who among the following Maratha
Chieftains was the first to offer nazr
(gifty at the Dar ah of Khwaja
Moinuddin Chishti of Ajmer ?

(1) Raja Sahu, the grandson of Shivaji

" (2) Peshwa Balaji Vishwanath

(3) Peshwa Balaji Rao

(4) Nawab Ali Bahadur, grandson of
Peshwa Balaji Rao-I” (from his
mistress Mastani)

‘pankodakasannirodhe’  was  the
penalty in Mauryan administration,
charged for

(1) Slushing the road

(2) Throwing garbage

(3) Stenching temples

(4) Filthy drinking water

The Ram Krishna Mission was founded -
by Swami Vivekanand in the year

(1) 1892 (2) 1898

(3) 1897 (4) 1880

Which one of the following officials
was not a part of the Mauryan
administration ? C

(1) Yukta (2) Pradeshika
(3) Rajuka (4) Agraharika

Consider the following events and

select their correct chronological order

from the codes given below :

(i) Formation of Naujawan Bharat
Sabha :

(ii) Formation of Swarajist Party

(ii1) The Dandi March

(iv) The Jallianwala Bagh Tragedy

(1) (i), (), (iv) (i)
(2) Gi), (iv), (i), (1)
(3) (iv), (i), (@, ()
(4) (iv), (i), ), (@

© Codes :

Q0
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19.

20.

21.

22,

18. The Lorraine Reg_ion of France is

famous for ;

(1} Iron and Steel industry

(2) Cotton and textile industry
(3) Paper industry

(4) Chemical industry

The *Man and Biosphere Programme’
(MAB) by UNESCO was started in -
(1) 1970 (2) 1972

(3) 1986 (4) 1991

The following map is showing the
location of ports of eastern coast of
India as (i}, (ii), (iii) and (iv). Identify
and answer the correct sequence as
given below : C

(i)
(1) Chennai, Tuticorin,
_ Vishakhapatnam, Machilipatnam
(2) Tuticorin, - Chennai, -
Machilipatnam, Vishakhapatnam
(3) Tuticorin, Chennaj,
Vishakhapatnam, Machilipatnam -
(4) Machilipatnam, Chennai,

Tuticorin, Vishakhapatnam
Which one of the following is not
correctly matched ?

Oil Refineries Set up by
(1) Tatipaka (A.P.) — ONGC
(2) Digboi (Assam) - [OCL
(3) Koyali (Gujarat) — HPCL
(4} Bina (M.P.) - BPCL
The meeting town of North-South and
East-West corridor super-highway is :

(1) Delhi (2) Nagpur
(3} Jhanst (4) Hyderabad
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27.

Match the following.:
A. Strait of i. Between
Gibraltor _lnfdonesia &
Malaysia
B. Strait of ii. Between Guif of
Malacco Persia and Guif
of Oman
C. Strait of iil. Between Africa
Bering and Europe
D. Strait of iv. Between Asia
Hormuz and North
' America
A B C D
(1) i 1v i ii
(2) iii i vl
(3) 1iv iii i1 i
4) 1iv ii iii i
Which type of agriculture is suitable for
high land area of equatorial region ?
(1) Plantation agriculture
(2) Humid agriculture
(3) Dry agriculture
(4) Commercial agriculture
Which State of India is located in the

north of tropic of Cancer ?
(1) Tripura - (2) Manipur
(3) Mizoram (4) Jharkhand

Read the following statements and

select the correct answer.

Statement (A) : Rivers flow from
Himalaya are perennial rivers.

Reason (R) : Source of Himalayan
rivers are located in glaciers.

(1) {(A) and (R) both are correct and
(R) supports {A).

(2) (A) and (R) both are correct and
(R) does not support (A).

3} (A) is correct and (R) is wrong,
(4) (A)is wrong and (R) is correct.

Physiographic region of India covering
the maximum area is ; _

(1) Dececan plateau

(2) Northern plains

(3) Northern mountains

(4) Coastal plains

00
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29.

The following map is showing the
major concentration of tribes in
Rajasthan as (i), (ii), (ii1) and (iv).
ldentify and answer . the correct
sequence as given below the map.

(1) Sansi, Garasiya, Bhil, Sahariya
(2) Bhil, Sansi, Sahariya, Garasiya
(3) Sansi, Sahariya, Bhil, Garasiya
(4) Garasiya, Sahariya, Sansi, Bhil

The following map "is showing the
location of Iift canals of IGNP in
Rajasthan as (i), (ii), (iii) and (iv)..
Identify and answer the correct .
sequence as given below the map : '

(I) Dr. Kami Singh lift - canal,

- Choudhary Kumbharam lift canal,

Jai  Narayan - Vyas lift canal,
Kanwarsen lift canal

(2) Dr. Kami Singh lift canal, Jai
Narayan  Vyas lift canal,
Choudhary Kumbharam lift canal,
Kanwarsen lift canal '

(3) Jai Narayan Vyas lift canal, Dr.
Karni Singh lift canal, Kanwarsen
lift canal, Choudhary Kumbharam
lift canal

(4) Jai Narayan Vyas Iift canal,
Kanwarsen lift canal, Dr. Karni
Singh  lift  canal, Choudhary
Kumbharam lift canal
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31.

34.

- 36.

37.

Agricultural practicesdone by tribes in
South-East hilly areas of Rajasthan is
kinown as o

(1) Balara (2) Chimata -
(3) Dajia (4) Dry farming
Which river in the Rajasthan state has
lowest drainage area 7 '
(1) Sabarmati (2)  Mahi

{3) Vakel (4) West Banas
Major coal types found in Rajasthan
state is

(1) Peat

(3) Bituminus

(2) Anthracite
(4) Ligmte
“Got-Manglodh™ area is related to
which mineral ? -

(1) Rock-phosphate(2) Tungsten
(3) Manganese (4) Gypsum
‘Mawat’ occurs due to '

(1) north-west monsoon

{2) south-cast monsoon

(3) north-east monsoon

(4) western disturbances

Match List-1 with List-1I and select the
correct answer by using the codes
given below the list :
List-1 {(Coal/gas
mines )
Kesardesar i.

List-1I (District)

Jaisalmer
Kapurdi S
Matasukh ' 1it.

. Tanot
Codes :
A B C D
() i v i i
(2) i ii iv i
3y 1 i i iv
(4)' i v i 111

Nagaur
Bikaner

o 0w

iv. Barmer

Which is not the iron ore mining area ?
(1) Morja (2) Dabla
(3) Neemla (4) Talwada

The district not benefitting from’ Jawai
project is

(1) Udaipur
(3) Barmer

(2) Rajsamaﬁd
(4) Sirohi

00
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38.

39.

40.

41.

¢

The President’s power to veto a Bill

for amendment of the Constitution has

been taken away, by substituting the

word, “shall give his consent™ by

which amendment ?

(I) Twenty third amendment

(2) Twenty fourth amendment

(3) Forty second amendment

(4) Forty fourth amendnmient

The Fundamental Duty to uphold and

protect the sovercignty. unity and

integrity of India is mentioned at

number. ‘

(1) one (2) two

(3) three (4) four

In" the Constitution which part is

-concerned with the Panchayats ?

(1 P:m—VIIl (2) Part-1X

(3) Part-IX-A (4) Part- 1X-B

Consider the following statements

L Through 44"  Constitutional
Amendment, 1978, all the
Directive  Principles of  State
Policy have been given preference
over  Fundamental  Rights
mentioned in Articles 14 and 19.

Il Supreme Court has laid down In
its verdict in Minerva Miils case,
980 that the preference given
only to Directive Principles of
State Policy mentioned in Article
39(b) and {¢) over Fundamental
Rights mentioned in Articles 14
and 19 is Constitutional.

(1) Only I is correct.

(2) Only H is correct,

(3) Both Iand 1l are correct.

(4)

Neither [ nor 11 is correct,
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g&\hzﬁér—ﬁﬁﬁqm{ = TAT H g
e I T : :
-1 eit-11
@t EmeTH . O
W) W T

3

CEA AR 2000
B. Tfwadl Famwam H i, 919
WA H e,
(o 2004
S o SATRAYT 61
LRI _
C. u =it PR i 97
© gy i HilRH,
: ' ' 2012
D. TS % AT iv. 9ge
! aRTHe HET e,
2015
e '
. A B C D
(1y i v i il
() i i v
Gy i i v
@) i i dvo i
FEL R gl 3 e Hibe T
_qﬁﬁ%ﬁ%ﬁqw@wmmg

A, T
A

B, f=w 1. i R

C wHRT WA SE- i, 7 o womelt
Y AT

D. @Ecsd v, g Wit
LT Pl

He
A B C D

(1y iv i 1

2y i v i il

3) i i v i

(4)  1i i i1 v

14

42.

43.

Match List-1 with List=11 and select the '

correct answer by using the codes

given below the lists. "

il

- List-1 _List-11
(Provision of (Number of
 Constitutional .-+ Constitutional
Amendment) Amendment)
A. Right to form" i.-81%
Co-operative - Amendment,
societies under 2000
Article 19(1) (¢) -
B. Protect -SC/ST ii 917
. reservation  in - - Amendment.
filling = backlog 2004 .
of vacancies. s
C. Formation  of iii. 97"
National Judicial Amendment,
Appointments 2012
Commission. . o
'D. Restrict the size iv. 99"
of Council of Amendment,
Ministers. ' 2015 '
Codes : - S
A B C D
(n i iv @ i
(2) i i iv i
(3% iiooii i iv
(4 v i

Match List-1 with List-H and select the
cofrect answer by using the codes
given below the lists. .

List-I ~ List-11
(Welfare Schemes (1ts content)
of Government of

India) :

A. Nai Roshni 1. Women
Programme Empowerment

B. DISHA ii. Financial

Inclusion

C. Pradhanmantri . New Pension
Jan-Dhan . System
Yojana

D. Swavlamban iv. IT Training
Scheme

“Codes :
A B C D .

() v i il i

(2) 1 . v i il

(3) 1 il iv i

(4) iil i i iv

0'0

Downloaded from: http://studymarathon.com/



(2w

44,

45.

00

Licia F a1} } 7o Bivw sie R e

- FeH A Tl IW 0 Pafera it -

ga‘}-l - gE-N
(Hafre e Gy

A. difers sfeer i, fafear wfgu
B. WIHAF i, ware =t
[Riticanic) Hiergry -

C. whmigery iii. MERer wferyrr .

W A
D. g0 iv. smfest
ey STYHR
13?":

A B C D
() iv di i g
2 iv i i i
3y v i q i

4y v i i i

FTAT(A):  IRE I T ST
T S e agemand
Tﬁﬁwﬁﬁ@wv&;wﬁnﬁ
T AT |

PROT(R):  faferwmnstl & wiew &
I Fafor ger &

(1) (A) 3T (R) ST oo oy & e &
R (R), (A) B O = d |

(2) (A) 3T (R) ST o1t oy F W ¥
AT (R), (A) Y Tt s i &

(3) (A) T Y, W (R) T ¥

(4) (A) TS, W (R) TF |

11

44,

43,

Match List-I with List-Il and identify
correct answer fiom the codes given

" below :
List-1 List-I1
(Constitutional (Source)
Provision)
A. Fundamental i, British
Rights Constitution

B. Directive ii. Canadian

Principles of Constitution
State Policy _
C. Cabinet iil. Irish
Government - Constitution
D. Union-State iv. U.S. Bill of
_ Relations Rights
Codes ;

A B C D
M v i
) v i i i
(B) v i i i
@ v i i

Assertion (A) : the primary objective
of India’s federal design was to
weave a nation out of its many
diverse parts and protect national -
integration.

Reason (R)
diversities has built a stronger, not

Accommodation of

weaker, Indian nationthood.
(1) Both (A) and (R) are individually
true and (R) is ‘
explanation of (A).
(2) Both (A) and (R) are individually
true but (R) is not the correct
explanation of (A).

the correct

~{3) (A)istrue, but (R) is alse.

(4 (A)is false, but (R) is true.
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47.

- B -1 ¥ u ghferm AR
A el 7 ST @ W IR H T HL

e 7T e @ WY ST FHI T BT ;
Sy T
(@) (fere)

A, UF TueHE i Toreror Segl A
S TS Fa &g FHIHA
I

B. THY 90X i, dfgars g9
T TE W e Eal

T “gTter

. TR il FARE e
T SREE Y viTsRal
Y

D. TEHH iv. TET WE0 W
RIS e
A TR
T

@2‘:

A B C D

() i iy i i

@) i v i i

(3) iv i i i

4 i @i i ive

-1 w=i-11

A, ORE e e i 1935
B, e T i, 1940
. ST W iii. 1945
D. S5 s iv. 1942
wHE:

A B C D
ay i v i i
@ i v i
Gy i 6o il v
(4 v @i i i

12

46.

47.

Match List-1 with List-1l and identify
correct answer from the codes given

below :
List-1
(Case)

A. AK,
Gopalan Vs
State of
Madras

B. Romesh
Tapar Vs
State of
Madras

C. Sankari
Prasad Vs
Union of
India

D. Champakam
Dorairajan
Vs State of
Madras

Codes:
A B C

(1) i v i

(2) 1 iv i

3 1w

@) i i

i il
i,

- List-H
(Subject)
i. Equality
admission
educational
institutions.
ii. Parliament’s
power to
amend the
Constitution.
Procedure for
preventive
detention

in

to

1ii.

Restrictions
on free speech

iv.

D
ii
iii
i
iv

Match List-1 with List-11 and select the
correct answer from the codes given

below :
List-1
A. Government
of India Act
B. Cripps
Proposals

C. August Offer

D. Wavell Plan
Codes :
A B C
(y 1 iv i
2y 1 iv il
3y i i i
i il

(4) v

List-11
1. 1935

il. 1940

i1, 1945
iv. 1942

D
it
ii
iv
i

00
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49,

50.

G0

TER-1 =11

(T&T) (@)
A, TR i. BT okt oS
...‘--\ . |

®IR Shear
B. 7 fufsrs i, ST SR
3 gfear
C. ¥ iii. T Toehke
D. T uifafesw iv. UIeT 31, 919
Ry s
HE:
A B C D
(M) i i v i

2y i i i v
3) i il v
4y i iv i i

e % 9§ frw oo ddwf gty @
foaeie =t s o <t e v 0
(1) 345t (2) 559
(3) 524t (4) 53dr

ﬁ%ﬁwﬁ&nﬁiwaﬁa&mq.

(A) R IR T SHRIT (R) 7 =70 fear w2y
T

afwsaT (A) . Wl wdve @)

FIwIe % $TER ST 356 o

YA T & HH BT T |

| BRUT (R) ; N TSHINS g6 3 B T
R A I ST 356 -

TEUART 53T )
e

(1) (A) ¥R R) T & B (R), (A) T
BT T TE v ‘

(2) (A) 3R (R) 31 T § 3 (R), (A)
F Wl AT

3) A FTse, g R) wEm |

(4) (R) 9 &, fbg (A) e ¥ |

13

48.

49.

Maich List-I with List-1] and select the
correct answer from the codes given
below : '

List-I List-H
(Books) (Authors)
A. Gandhian i. D. Mackenzie
Constitution Brown
for India
B. The Republic  ii. Sriman
of India Narayan
C. The White iii. A. Gledhill
Umbrella

D. The Politics
of India since
Independence

iv. Paul. R. Brass

~ Codes :

A B ¢ D
(hy i i iv i
() i i i v
(3) i i i v
4) i iv i i

Mizoram has been granted the status
of a State by which of the following
Constitutional Amendments ?

(1 54"‘I_ 2) 55‘2
(3) 52 (4) 53'

Given below are two statements. one is
labelled as Assertion (A) and the other
is labelled as Reason (R).

Assertion (A) : Sarkaria Commission
recommended that Article 356
should be sparingly used.

Reason (R) : The political parties that
came to form the Government at
the Centre misused the Article 356,

Codes :

(1) Both (A) and (R) are true, but (R)

- 18 not the correct explanation of

(A).

Both (A) and (R) are true and (R)

is the correct explanation of (A).

(A) is true, but (R) is false.

(R) is true, but {A) is false.

Downloaded from: http://studymarathon.com/



wh
‘a

54.

frefefiaa § & 39 s, 2000 F g
g fafre wgam wiuestor % T
TR e T8 T 0

(1) &t 7= et

(2) = TN JEE

(3) = 79 Haw ¥l

(4) =it Tieek T smeemEeat

@Iaﬁﬂﬁn#wqﬁfﬁmﬁm.

2 D el W T IR T T W
w1 . H=i-11

(TSR weE) @)

usiE fegr a s i 1990

STt :

T sfafam)

IERICHSENGEIE!

we ot wefran) stfufram

LT STAEETH ST

stfafrag

Cacd

A

ii. 1995

iti. 1986
iv. 1993

B C D
(1) T T
(2)
G) i i
(4) ii i
ﬁmﬁ@ﬁqrﬁﬂwmmmﬁmﬁ
ST ST ST T o1 7

(1) aﬁcmm%ﬂ:r
(2) wfew @ ik 3

1ii i i v
v ii

iii v

fper Qarail H TSR Wb ol TRUES
fefrady srfafeg, 2011 H RO TS § 2
(1) 106 (2) 107

(3) 108 (4) 109

Amongst the following who was
appointed as the first Director General
of the Unique Identification Authority
of India created in June, 2009 ?

(1) Mr. Nandan Nilekani

i
[ o]

(2) Mr. Ashok Desai
(3) Mr. Ram Sewak Sharma
(4) Mr. Montek Singh Ahluwalia

Match List-1 with List-1I and select the
correct answer from the codes given
helow :

List-I List-1}
(Human Rights Documents) (Year)
A. The National i. 1990
Commission for
Backward Classes Act
B. Child Labour i, 1995
(Prohibition and
Regulation Act)
C. Persons with Disabilities iii. 1986
(Equal opportunities,
Protection of Rights and
full Participation) Act
D. The National iv. 1993
Comimnission for
- Minorities Act
Codes :
A B C D
(1) iv i i i
(2) iii i i iv
(3) i i iv 1
@ 1 i i v
83, Who amongst these was not a

Chairperson of Rajasthan State Human
Right Comission 7 '

(1) Justice N.K. Jain

(2) Justice S. Sageer Ahmed

(3) Justice Kanta Bhatnagar

(4) Justice Prem Chand Jain

How many services are given
guarantee | under the  Rajasthan
guaranteed Delivery of Public Services
Act, 2011 ?
{1y 106
3) 108

(2) 107
{4y 109

06
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56.

57.

58.

00

P 2015 & amr e F ey §
TR A
(1) 75.19%
(3) 77.19%.

(2) 76.19%
(4) 78.19%

(1) 1962 4 garw 3 1971 ¥ Tt

) 1959ﬁmm3ﬂr1987ﬁg=mﬁqﬁ
(3) 1966 9§ w1 3 1973 F qoresifig
(4) 1962 ¥ T 3y 1987 & et

TR 9 HHeTB] 3@ % a5
T T el & 9 : |
ﬁn%ﬂq’fﬁ.w%qaﬁrﬁﬁﬁqﬂ?@ﬁ
W WE I H T AT
i ST v 2000 R qoferar R T
e b | 3 |
il. 3T H O ulhifers sty i @)
W | |
iii. T % R S =AY F
giiaa?mmqﬁwmﬂmﬁ
N

iv. e 2000 ¥ S 2005 T e _

. 7IGRT ST & svegey o |
HT
(1) i, iii Ay

'(3) ii 37T i

(4) 1, ii, ifi AT iy

th

55.

56.

57.

As per State Election Commission, in_
Urban Local Bodies General Election
2015, State Polling Percentage was

(1) 75.19% (2) 76.19 %

(3) 77.19% (4) 78.19%

In the first general elections to State
Assembly of Rajasthan, the Political
Party which secured second. highest
number of seats after Congress was

(1) Bharatiya Jansangh

{(2) Ramarajya Parishad
(3) Kisan Majdoor Praja Party .

- {4) Hindu Mahasabha -

In which years was the office of

- Divisional Commissioner abolished

and revived thereafter ?

(1} Abolished in 1962 andrevived in 1971
(2) Abolished in 1959 and revived in 1987
(3) Abolished in 1966 and revived in 1973
(4) Abolished in 1962 and revived in 1987

What is not true about' the Rajasthan
State Human Rights Commission 2

Read ‘the following statements and

select the’ correct answer from the

codes given below : :

i.  The Commission became fully
functional from May. 2000.

. The Commission comprises of
ane full time Chairman and two ..
members. .

iii. A former Chief Justice or a
former Judge of a High Court can
become  Chairman of  the

- Commission, : '

iv. Justice AS. Godara was the

Chairman of the commission from
~ July 2000 to July 2005.

Codes :

(1) 1, iii and iv

(3) iiand iii (4) i ii iii and iv
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D WEEEH & iv. St F
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A B € D
(1y i 1 i 1v
() i 1w il
3) v u 1 1l
4y i v i i

S W feen vraeE % P %
aﬁ?mﬁ 3 ) B Tee ®H W
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(1) FeaE (2) =t
(3) T (4) STAW
T H et e SR ST S
a7
(1) 6 ) 4
(3) 7 D 2
ﬁm-ﬁﬁﬁﬂmﬁwmg@qﬁm
&7 7
(1) = s e

. (2y -l S, TR

T (3) off %, qERpTH

(4) o va g, R

aﬁ'fzols-mﬁm@mwmwﬁ
eqTe T UEE 29T H WA ©FF T AT ?
(1) W I

(2) TAE el

(3) e
(4) diE g o
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60.

-61.

62.

Match List-l (Firlantce Committees for -
2015-16  in  the 14" Rajasthan
Legislative Assembly) with List-Il
(Chairman thereof) and select the
correet answer by using the codes
given below the lists : '

List-1 List-11
A. Committee i. Mohan Lal
on Public Gupta
Accounts .
B. Committee ii. Madan
" on Public Rathore
Undertaking

C. Committee  iii. Pradhyumn

on Estimates Singh
GA’

D. Comimittee iv. Dr. Gopal
on Estimates Krishna
I.B‘)

Codes :

A B C D
ay i1 i v
@) i i dvo i
3y v @1 id

4 v 1 i

As on September 11, 2015, which
district of Rajasthan stood first’ in

achieving the annual  target of
Constructing toilets ?

(1) Sirohi (2) Pali

(3) Ajmer (4) Udaipur

For how many times President Rule
was promulgated in Rajasthan ?

(L) -6 (2) 4

(3) 7 4 2

Wwho amongst the following was the
first Chief Secretary of Rajasthan ?

(1) Shri B.G. Rao

(2) -Shri V. Narayan

(3) Shri K. Radha Krishnan

(4) Shri S.W. Shiveshkar

In which .crop production, Rajasthan '
occupies first position in the Country,
for the year 2013-14 2.

(1) Coarse cereals

(2) Total pulses

(3) Rapeseed

(4) Rapeseed and Mustard

00
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00

L B R _ﬁ,“:ﬂﬂ"f-ll w W E A

w1 aﬁl I
e frer (o Fora
wew) AR d
A. TRRA i. e
- B. Tuem® i R
C. TerEr 1il. FETS
D. dehell iv. SR
Fe:
A B C D
O i 11 1 iv
(2) iv iin il i
(3) i il i 1
4 i v i i1
e F R fE I TR g
2011-12 ¥ SFdE & gy A Frfaar &
FTIT TEl 6T TaT ?
(1) oeETg 37.9%
(2) e 6.3%
(3). TeTEA 21.7%
(4) TFET ORA 29.5%
TTEE 8 FouE B few gw fEfewa
T E 2

(1) IITg et e Histae
(2) THIAITEE, gHel 9ET Nisiee

 (3) BEEST 9HW TIeT Ui

(4) T greT Ha

YRA H 86T 4§ ALY 9 & A5 47§27

GiadeT femar T 0

(1) SR a¥ 2004-05 & =& &
2011-12 Fpar mar ¥ |

(2) TUFET WEE-NT € S0 W SR
T W

(3) ORI W6 e & See B T
'aﬁn?ﬁwﬁmﬁ%:

(4) *MUR =9 & TorET oty S H sSgee

E IR

64. Match items in List-I with 1tems in
List-1I and select the correct answer
from the codes given below :

List—1 List - n
(Mediam (District in which
. Irrigation situated)
’ Project) !
A. .Gagnn 1. Kota
B. Piplad . Bundi
C. Gardada 1ii. Jhalawar
D. Takli iv. Baran
Codes :
A'B C D

(y i i i v
(2y tv iii i i
Gy i omofo i
4 i v i il

65. Poverty-Ratio  based on the
Methodology adopted by Dr. C.
Rangarajan Expert- -Group was
incorrect for the state for 2011-12 in
relation to the populatl on of the State :
(1} Chattisgarh 37.9%
(2) Goa 6.3%
(3) Rajasthan 21.7%
(4 All India 29.5%

66. Which Super-critical power plant has
the highest ingtalled capacity at
present in Rajasthan ?

(1) Surat;sarh Theymal Power Project
(2) Kalistndh Thermal Power Project
(3) Chabra Thermal Power Pro_;ect
(4) Kota Thermal .Plant

67. Indicate the vital change in the
measurement of National Income of
India recently.

(1) Base year has been changed from
2004-05 to 2011-12.

(2) Calculation has changed from
Tfactor cost to, market prices.

(3) -Calculation has changed from

* current prices to constant prices,

(4) Both the base year and calculation
method have changed.

7 o
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68. .

69,

70.

71.

@

0y iioiv i i

Which factor can:pe highly. supportive in

-achieving economic growth rate of 8%

or more in the near future in India 2

(1) Fast skill developmerit of labour
force in the country.
Implementation of all stalled.
productive projects. '
Increasing  Ease of Doing
Business at a rapid rate.
Promulgation of GST from April
I, 2016 without further delay.

Match the items in List-I with items in
List-1l and select the correct answer
from the codes given below -
List — 1 List— II

(Specialization) Name

A, Taxation i. M. Govinda
Rdo

ii. C. Rangarajan
iii. Arvind

~ Pangariha
iv. Ashok Gulati

B. Agricuiture
C.Monetary Policy

D.Indian Economy,
Planning and
State Level
Reforms '

E. Fiscal Policy v. Parthasarthy

_ Shome -

Codes :

A B C D

(2) 1 v i i
(3) v v i i
4 v iv i i '
Direct Cash Transfer Scheme of
Kerosene on Pilot Basis in Rajasthan
started from

(1) Kotputli Tehsil

(2) Kotkasim Tehsil

(3) Kotra Tehsil

e

{4) Kishangarh Tehsi]

Which District is not covered under
National Bamboo Mission ¢

(1) Jalore- {2) Banswara
(3) Karauli (4) Bhilwara

FM  broadcasting service uses the
range of frequency bands between

(1) 54-75 MHz '

(2) 76-87 MHz

(3) 88-108 MHz

(4) 109-139 MHz

00
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75.

76.

77,

06

Frefefaa & ¥ B4 @1 g 71 swRfe
TG UgEE Y 7

(1) TR VRS (2) TR GohES
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uRa o Frefefan § @ w9 w8y S
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D.

- E. 3T U EUS H 9 T s
F
G
H

(1) A D>C—>BoSE->G—-F-H
(2) A B5F->5G—S5E-SH-C->»D
3) H5F>5G—2E—>A—>DoBSC
(4 C5ASB-D>F»ESGoH

el e PR g w@ o
() ags - et 0
. (2) R . ULEER

| | RICEEAT

(3) R -~ i
SR B RicECaTy

(4) Sivag —  anfoas et
Gieftst

et & wey § S a1 wue T @ Y

(1) WA ars & garet o
FRIT ST |
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73,

74.

75.

76.

77.

Which of the following is an inorganic

gaseous pollutant of air ?

(1) Hydliogen cyanide

(2) Hydrogen sulphide

(3) Methane

(4) Phosgene

Which one of the following areas in

India, is a hotspot of biodiversity ?

{1} Sunderbans

(2) Western Ghats

{3) Eastern Ghats

(4) Gangetic Plains

Steps  of  Recombinant DNA

technology are given below :

. ldentification and isolation of the

genetic material.

B. Fragmentation of DNA. -

C. Obtaining the foreign gene
product. ,

D. Downstream processing.

E. Ligation of DNA fragmentation
into the vector.

F. lsolation of desired DNA
fragments. '

G.  Amplification of gene of interest.

H. Transfer of Recombinant DNA
into the host cell/organism.

The correct sequence of steps is

() ASD5C—oBoE—oGoFwH

(2) ADBSF-3>GoE—SH-SC-D
(3) HbFS5G3E—>5ASD—SB—=C
4 C5A-5B-SDSFHSESGoH

Which of the following pairs is
correctly matched ? -

(I) Ligases — Molecular
Scissors

(2) Ligases — Molecular
Stitchers

{3) Restriction — Molecular
Endonucleases -~ Stitchers

(4) DNA — Molecular
Polymerase Scissors

Which statement about aspirin is not
true ? '
(1} Aspirin  belongs to narcotic
analgesics.
(2) ltis effective in relieving pain.
) It has antiblood clotting action.
(4) ltis a neurologically active drug,
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(1) g T

gemr it e F g AR AW | H
SR R ST & e e o uged A
fowd @, 9 &
SUUE
(A) GSAT-2
(B) GSAT-4
(C) GSAT-5P
(D) GSAT-12

waTor @i A
-8 {2003
— 15 31de 2010
— 25 Te@vR 2010
~ 15 [T 2011
(1} (A)T= (B) 2y (ByTur(C)
(3) (O)TuD) (4 (D)TAT(A)

€130 ] gR e e aEE 56

a1 Torr s @ Tava i STRiieh 9 T

FTR () & 1 3 g S S
ORI ERT

(2) ®HIW
(3) WG g
(4) TREAEN -
ue e qHEl 3§ OIEe T € | SHeh
ﬁﬁlﬂg Sirer & fofe @ el & | S)
o= T | @i w1 G R S e 2
(1) O.Rh*  (2) O.Rir

(3} AB.RI (4) AB, RN
ftefEs O § 9w St L o aEe
HTEITE? .

(1) Rerfemst  (2) difemr

(3) &7 (4) TEEEE

e (TTee) Fae &

(1) Zﬁqﬁﬁﬁﬁﬁ%mwwﬁm‘

<TereT hl Ueh fohed
(2) ﬁm%wﬁﬁm.(ﬁa

el

(3) UF ZEsite e W et faen
FUE % forw ST SUT & )

(4) =T T S e fed die

ST F IAEA B ¢ |

ffefae siel § ¥ B 91 Ser CgeEft
TZ % BB o Y T ST S € ?

(1) SmaT

(2) e

(3) o Al

(4) YETR TR o a§F &

T IUAOT = gt S S faee
Tt U uiEir & T, I8 Heeld §

(1) #HieX (2) I
(3) TR B Hie  (4) Sl
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- {(4) Battery

List of few satellites manufactured by
ISRO is given below along with the
date of their launch. Which two of the
following Satellites failed to reach the
orbit ?

Satellite Launch Date
(A) GSAT-2  —8" May, 2003
(B) GSAT-4 - 15" April, 2010
(C) GSAT-5P - 25"December, 2010
(D) GSAT-12 — 15" July, 2011

(1) (Ayand (B)  (2) (B)and(C)
(3) (C)and '(D)‘ (4) (D)and (A)

C-130J Super Hercules is world’s most

advanced air lifter being used by

Indian Air Force. These air lifters
(air craft) are made by

(1) US.A. (2) Russia

(3). France (4) Israel

A person met with an accident and
there is no time to check his blood
group, which of the following blood
should be given to him ?

(1) O,Rh . (2) O,Rh”

(3) AB,Rh™ - (4) AB,Rh"

Which one of the following diseases is
not due to contamination of water ?

(1) Hepatitis-B (2) Jaundice

(3) Cholera (4) Typhod

Golden rice is
(1) A variety of rice grown along the
-~ yellow river in China.

(2) Long stored -rice having yellow
colour tint. _

(3) A transgenic rice having gene for
carotene '

(4) Wild variety of rice with yellow
coloured grains.

Which of the following forests is
known as the “lungs of the planet
earth” ?

(1) Taiga forest

(2) Tundra forest

(3) Amazon rain torest

(4) Rain forests of North-East India

A device which converts chemical
energy into electrical energy is called

(1) Motor

{2} Generator .

(3) Moving coil meter

00
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ﬁmf‘eif@ﬁﬁ@trrﬁfmﬁrﬁaawﬁqm
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(1) Tl (2) ey
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(3) 1n2fe (4) 16 fae
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e 0 T S
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FEheH fopte, St SHTRITBRES
HET G T
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(1) vl e s
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(3) 31T T
(4) 3T T
Felt &

(1) mmqaﬁvﬁaﬁaq?ﬂﬁ%ﬁ
T HARAE |
(2) w%ﬁmﬁ’rmﬁ
(3) a@mmm?ﬁaw&@m
ST BRI ©HT |

(4 ﬁaaﬁwmﬁa’rw\aﬁm%-

ST | wrEt S &
ST W Rty e g
(1) STTFET W FHAT F HRUT
() ﬁm?rg;a% mﬁﬁﬁqﬁgmﬁﬁnﬁ

3) ?E@Gﬁwgrwaa‘rqa e
HRUT
(4) e ® wfaal o fereei % RO
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~(3) Succinic -

NG

Which of the following is not a biotic
component of the ecosystem ?

(1} Plants (2) Bacteria

(3) Animals (4) Air

Unicode encoding scheme represents a

. character as a group of

(1) 4bits (2) 8 bits
(3) 12bits (4) 16 bits

The retina is outgrowth of the
(1) mesencephalon (2) diencephalon
(3) “telencephalon (4) pons varoli

Identify the correct pair of enzyme and

its function :

(1) E. coli
restriction
endonuclease-11

(2) Acrosin -

cuts DNA at
specific places.

cortical ,g,ranules
of ovum secrete
it to prevent
Folyspermlc

ertilisation

Lysosomal
marker
enzyme,
hydrolyses
metabolites.

Mitochondnal
marker
enzymes
related to
oxidative
functions.

For human nutrition, tomatoes are a
rich source of

(1} Methonic acid (2) Citric acid
(3) Oxalic acid (4} Acetic acid

Kiwi is

(1) Flightless bird found only in New
Zealand. .

(2) A desert snake.

(3) Fastest flying
mammal of Australia.

(4) A species of vulture found in
Annazon forest only.

Eutrophication of water body results from

(1) Depletion of oxygen

(2} Enbanced growth of algae or algal
blooms

(3) High amounts of nitrogenous

nutrients and orthophosphates

Submersing idols in the water

body

dehydrogenase .

(4) Acid
phosphatase _

Chiropteran
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R e dd s W o W §
e R FH/RES Hu-SaT & w0 H
TRT SR T ST WA 2
(1) ST, T, 99
(7) T, TR, T

(3) ERETEN, W, TUEE
(4) T, TR, WYl

e A freewged o € a9 @

ey ‘

(1) dfaat 9 =mar s |HEOT (20-30 FHum)
BT |

(2) o (20-30 ftF) qHAT TS EIAT R |

(3) BT (2-3 Ty arer e

Bt e |
(4) T W (100-200 Tt Fen gar |

foell e WS F <5677 1 I & “black
tall man”, 859" 7 3@ § “curly black
hair”, Ug *167” %1 39 & “fat tall man”.
A I e 9 H | T S A § 0
(1) black (2) fat

(3) curly (4) tall

T gl Thel ST 96l € | §8 31U 8T
¥ T AR Sl &, A qd e | fea
UEH U SNTR I ST &, mmqﬁ
o Rmag?

(1) 3@ (2) ufers

(3). W (4) gheyor

HGR T H YR B I S 9 Giadr
Tq i | GEEWE! §, of Bl H gl fohan
feremedl &9 '
{1) 33 (2) 34

(3) 35 4 32

FEQ+R>P+S. W@P+Q>R+S.
a9 gg [ATwa € & (P, Q, R, S ¥AH®

ot HEd §) : |
(I Q=S (2) S<P
(3) R>8§ (hy Q<8
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Which crop group out of the following
contains crop/crops that cannot be
used for biofuel production ?

(1) Jatropha, Sugarcane, Palm

(2} Lentil. Sugarbeet, Wheat

(3} Soyabean, Com, Rapeseed

(4) Sugarcane, Corn, Mustards

Deserts have phreatophytes, i.e.. plants

that have

(1) Lipid accumulation (20-30 mg) in
leaves

{2) Long (20-30 ft) taproots

(3) Small (2-3 mm) or spine like
leaves

(4) Succulent stem (100-200 mm

) thick)

In a certain code language 567"
means “black tafl man™, “859" means
“curly black hair”, and “167” means

“fat tall man”, then in this code
language 1™ stands for :

(1) black (2) fat

(3) curly (4) tall

A girl wants to go to the school. She
starts from her home which is in the
east and she gets a crossing. The road
to the left ends in woods, the straight
ahead is the market. In which direction
is the school ?
{1) East

(3) North

(2) West
(4) South

Shalini ranks seventh from the top and
twenty-sevenih trom the bottom in her

~ class. How many students are there in

the class ?

(1) 33 (2) 34

(3) 35 (4 32
fQ+R>P+Sand P+ Q>R+ S,
then it is definite that: (P, Q, R, S are
positive whole numbers) :

(1) Q>s (2) S<P

(3) R>S (4 Q<S8

00
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101.
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102.

. (1y 3
103

00

ST 9l 62

AN el § |
(3) W T anmEl o oWl
Il gu &

WA EE |

gt 18, 30, 48, 72, 96, x # e HeEAT
X FTEY

(1) 96 2) 106

(3) 115 4) 120 _
freet = 7 = a1 fopdll s &7 o o
T ST o o forwt G @ o e |

{5} & Wl v & 5 2
(1) 1099 (2) 209
(3) 38= 4) 424

‘v % ot quites W At s R R
n® + 48 A ot &t wm, ¥

) 6
3) 8 4 12

U §HE wHeg Bl % wqe % g
Tfss ey fo o woragdstt o sem i

h) 15
(3) 21

) 18
(4) 24
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(4

(3) 115

()8

hclsz B 7 91 3
, then
Y™y
(1) 4 (2) 5
3) 15 (4) 8

Consider the following statements :

a. None but the best candidates can
clear the exam. _

b. Some of those who clear the exam

- pass with good marks.

c. Some of those who pass with
good marks get awards,

Which one of the following inferences

can be drawn from the above

statements ?

(1) All best candidates appear for the

exam. - :

All those who clear the exam are

the best candidates.

All best candidates pass with

good marks.

Those who clear the exam pass

with good marks.

What is the missing number ‘x* of the
series 18, 30, 48, 72,96, x 7
(1) 96 (2) 106
4y 120

Ena’s age was square of a number last
year and it will be cube of a number
next year. How long must at least she
wait before her age be again the cube
of a number ? -
(1) 10 years (2) 20 years
(3) 38 years (4) 42 years
The number of all integers ‘n’ for
which n® + 48 is a perfect square, is

(N 3 (2) 6

- (4) 12

The number of rhombus in the
following figure formed by the set of
same equilateral triangles is

() 15 .
(3) 21

2) 18
4) 24
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- 108.
_ a4 & ‘blue sky’; ‘silko spadi’ 3 T

109.

et 3t
adb ac dc _cddcb dbe _cbda

(1} beceba (Z) ccbba
(3) cbbaa (4) bbcad

fopu) fafyere 5 W1 ® “goolo yarn® T

‘bicycle race’ T *goolo silko® i 1

£ ‘blue bicycle’ | o v 1 a1 ‘race.

car’ & Hehe & ?
(1) silko zwet (2) spadi silko
(3) goolo breli (4) spadi vole

Forey o 7 feperdy ot 9

(N 27 (2) 25 :

4) sqﬁ_@aﬁs‘

w o fon T ¥ 1w e

24
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{3) 2.3

gl i1
MCa™p e

x, y and z caiicomplete a piece of
work in 9. 18 and 24 days respectively.
They started working together, but y
and z left the work 3 days and 2 days
before the completion of the work
respectively. What was the ratio of
contribution of y to that of z in the
completed piece of work ?

(1y 4:5 @2y N2

4 1:1

If the arithmetic mean of a, b, ¢ is M/3

1 I
then the _anthmetlc

) A e T .

mean of a=, b, ¢” 18

(1) M3 (2) 3m?

(3) 6M? 4) IM>

Six persons A, B, C, D, E and F are
sitting around a table. A and B do not
sit next to each other. E and F are
opposite each other. C is sitting to the
immediate right of F. If A is not
between E and C, then D 1s not next to
F. Which of the following is not an
arrangement (in cldckwise direction)
satisfying the conditions given above ?
(1) DAEBCF (2) FADEBC

(3) BDEACF (4) ACFDBE

in the following letter series
arrangement, some of the letters are
missing which are given in that order

" as one of the alternatives below it.

Choose the correct alternatives :

adb _ac _dc_cddcb dbc cbda

(1) beeba {2) ccbba

(3) cbbaa (4) bbcad -

in a certain code language ‘goolo
yarn’ means ‘blue sky’; ‘silko spadi’
means ‘bicycle race’ and ‘goolo silke’
means ‘blue bicycle’. Which word
may mean ‘race car’ ?

(1) silko zwet (2) spadi silko
(3) goolo breh (4) spadi volo

How many squares does the following
figure contain ?

25
"None of these

0o

& 2 g
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(3) 87479

Bt 3 @ o s ¥

59 -~[51, \37-~/20 , 87— \FJ

TM\79-471

(1) \37-43 (@) \39-~/51
4 7971

T 2008 H ¥ 24,000 et T T
FUH X, Y, Z%qa:tré%rz'%wﬁr
TOETEE

a5 % 9§ "2 X, Y, Z % edl § o

10%, 20% <& 10% m’tqﬁﬂ’lﬁ% | =1
G o e N 2009 F HA &

(1) % 6,600, 9,900, T 10,700
2) 76,600, % 9,600, % 11,000
(3) 6,500, % 9,500, T 11,200
(4) % 6,900, 9,600, % 11,200

FYA ;. URT H Ay TRpST J wlien
Y ST YT AU o &

tﬁﬂ'ﬁ'ﬂl’&

I ® @ & Od & o 9 &

- ofemelt HeT A <A A

1L wden = AF-eTRR Gafe Ao ar
T % = H S el & |

Frefeafierns & & = W &2

(1) cheleT JEYRON | o | s=fted & |

(2) <hoeT JEURUT [ 9= | i & |

(3) @ T QEEREN | A qEyrRoT [ wuT 1
HAHTET § !

(4) TH WERUR | @ 0 = A
FTatea € |
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Which of the following is the greatest 7

59451, \/_\f‘ \87 79
aﬂd\/%—

(1) \lﬁwxlz_o @) \lﬁﬂfﬁ_l
() \87-4719 @ IO-7I

The cost of the components X, Y, Z of
a machine worth ¥ 24,000 in 2008 is
given as Pie Chart.

In the following year. the cost of the
components X. Y, Z increased by
10%, 20% and 10% respectively. The
cost of the three components
respectively in 2009, was :

(1) ¥6.600, % 9,900, 10,700

{2) ¥6,600,39,600,% 11,000

{3) ¥6.500,¥9.500,T 11,200

4) %6,900,%9,600,T 11,200 .

Statement : Most of the institutions in

India have adopted on-line system of

examination.

Assumptions :

I. It may happen that examinees
from all parts of India are expert

in computer.-

[I. On-line system of examination
helps in recruiting more qualified
persons. -

Which of the following is correct ?

(I) Only Assumption [ is contained in
the statement,

(2) Only Assumption II is contamed
in the statement.

(3) Either Assumption I or

Assumption I is contained in the

statement. -

Assumptions 1 and Il both are

contained in the statement.

(4)
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1i8.

Y AR vateerRT ¥ Freer awt

e 951 e H IR A 76 & |
wAaE: -
. favafoewm #t wgasy @ for.
mmmﬁ%ﬁaﬁ%m
< ST =R

Temfea fomar ST wrfiew |
IWIFT FYT B G AEEH ad BT
SURNeRT hrleriieel 3 & i FoA % ITTE
STTUROT ¥ell & 2
(1) et sdener |
(2) hael w11
(3) 7 ot FrEamE [ 3 T & wEhaE) 11

(4) wrienfes 1 oo 1 2

I POTATQ i 3 mrrw-ﬁi‘za%mm
2, T MASK T %< &1 ;
(7 (2 4 G333 o
Frefafas g o 9 #F o 9a
&y ¥ | i
(1) 4,63 (2) 5,137
(3) 6,715 4) 7,815
TH Q9 TG % U SieShiv qe U
FRTHIT B ST 1 2 5 R IS
ﬂﬁTﬁﬁ'ﬁ'{i@T%
M6 @8 @)1 @12
i 23 x 5 =264 13 x 8= 19 &, @
09x 7= ; -
(D 40 ()42 (3)43 D #4
ﬁmi%lf@ﬁwr%miwqﬁw%mﬁa?
ﬁqwﬁm%mﬂ
sﬂ?ﬂ B = I
C D = T femEr
E=1"T=11"?m@‘vi F===d
Fltoa
15/0 20%
B
2(?% C |5%
_ 14%

7fc afER B mies s=d € 4,500 &, @

AIfaE S &
(1) T 45,000 (2) 30,000
(3) ¥ 25,000 (4) 20,000
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Statement : A’ large number of
graduates of Indian universities
are not eligible for em ployment

Courses of Action :

. Universities should be given more

freedom in deciding subject .
matters of the syllabi, C
- L. World ranking foreign

universities should be inspired for
opening their campus in [ndia.
Assuming the truth of the above
statement decide which of the above
courses of action follows accordlng, to v
the statement ?
(1) Only Course of Action |
(2) Only Course of Action II
(3) Neither course of AC’[]OI‘I [ nor
course of Action II
(4) Courses.of Action 1 and Il both. ..
If POTATO is coded as 3, then the
code of MASK will be g
(1) 7 2) 4 (3) 3 (4) 0 :

Three of the followmg pairs - of
numbers have the same relatlonshlp

The odd all'lS
(1) 4, 63P {(2) 5,137
(3} 6 715 4) 7,815

-The ratio of an extemal angle and an

mtemal angle of a regular polygon is
g & (Y £

1 The number of sides In the
polygon s _

{(hH 6 2) 8 (3) 10 (4) 12
lf23><5—’76and13><8~ 19 then
39x 7= ¢
(1) 40 (2) 42 (3) 43 (4) 44

The following Pie-Chart indicates the
monthly domestlc budget of a famlly
where

A =Food B= Conveyance
C = Clothing D = House rent

E = Miscellaneous expenses _‘

F= Savmg )
_ < Pl
2,

12% W% N

— B

D o

20% | eN2%

 |18%

If the monthly saving of the family is

T 4,500, the monthly income is

(1) T45,000 (2) ¥30,000

(3) ¥ 25,000 (4) 20,000 _
00
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3T} EhR fewht 9o = % ewey

% 9 e |
(1) 7 Wi (2) HHE YR
TN HHT (4) W SR

HYT (A) : YRA H 3] i ot fi

T 2005 °§ erE 3% iyt o dRe) fva

rRfeRd | I g Sl o, 379 2014

T Tt weeh i ferstar Wit S A TR |

RO (R) : EH TIAIC qa T Sidmr

(EERT ®IM) SIY 2% o Tt 18 ¢ |

Fe! '

(1) #=F (A) 3R ®RUT (R) I @&t &
T (R) # (A) 1 T& SROT T |

(2) (A) 3R (R) T W & fRg (R),
(A) T T& R T & )

(3) (A) W, g R) T |

@) (A) TR g (R) W T

TR =Rl IRT (e fadees 2015

H feum W S 27 L 2018 =y

e =X e | s wire sefeaRt o
grsraT o T e fapam ¥
(i) % i § siner g ai |

- (i) Tien ufeg @ wewme & faw o

forlt srevas & |

(iii) Tare Wi # gga ¥ faw 1o
HET T ST SAETFH & )

(v) WY & fow wmen gt w=y ger
Agfaa &= § Iufieart &1 sof sy

O BT EsEE Y |

(1) G)ysRG) e

(2) (i), (i) S (iv) W@ &

(3) (i), (iii) 3 (iv) W & |

(4) (i) 3R (iv) WA |
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Justice Surendra Kumar Sinha has
been in the news, because '

(1) he delivered bold judgements in
T.A.D.A. cases.

he gave a note of dissent in Jaya
Lalita case. _

he has been sworn in as the first
Hindu Chief  Justice of
Bangladesh Supreme Court.

he is the first Judge appointed
after the Constitution of All India
Judicial Commission in place of
the Plenum.

Identify the name of the player, who
was awarded ‘Arjun Award’ in 2014,
after the intervention of Delhi High
Court.

(I} Jai Bhagwan (2) Mamta Pujari
(3) Manoj Kumar (4) Tom Joseph

Assertion (A) : Anju Bobby George
of India, who won an Silver
Medal in long jump in the Third
World Athletics of 2005 has been
declared a Gold Medal Winner in
2014,

Reason (R) : The I.lssian athlete
Tatyana Kotava (2" position) was

disqualified during her Dope test.

Codes : ;

(1) Both (A) and (R) are correct and
(R} is the right reason for (A). '

(2) Both (A) and (R) are correct, but
(R) 1s not the right reason for (A).

(3) (A)is correct but (R) is wrong.

(4) (A)is wrong but (R) is correct.

The  Rajasthan  Panchayat  Act

(Amendment) Bill, 2015 was passed

by Rajasthan Vidhan Sabha on March

27, 2(515. It provides for Eligibility

qualifications of local leaders —

(1) Availability of a Toilet in the
house

(i) Candidates for Zila Parishad -
B.A. Degree '

(ii1) Canqidates for Panchayat Samitis
- 10" Class Pass

(iv) Ca]ndidates for Sarpanches
(S‘I' Class) and in Scheduled Areas
(5" Class) respectively

Codes :

{1} (i) and (ii) are correct. _
(2) (i1), (iii} and (iv) are correct.
(3} (1), (iii) and (iv) are correct. .

— —
[F¥] i~

(4)

{(4) (i} and (iv) are correct.
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128.

(1)

(1) =@ T wesn

T o e fiel d w3 SR b
e w5 T & R ' € SKEe
fri e ? '
(1) SE (2) AR
(3) IEW (4) e
qﬁ-lm?ﬁﬁ-llﬁﬁﬁmmﬁﬁwﬁ%ﬁﬁ
@gﬁﬁmﬁaﬁwwwmt
T - 1 et - 11
A. 11 i Tove wmRd feaw
B. 12 9TRA i U B <ad
C. 29 ST iii. SRS For feerd
D. 8 famat  iv.feres st e
E TR
A B D
(y @i v i i
(2) 1 i i iv
3y iv it i
(4) iv i i i

TR TET d fhg 9¥ we Tad ol
SR G ) YEIT B § 7

(1) 2020 (2) 2021

(3) 2022 (4) 2023

sed AT uE wedt uRekm e
(3mger) e w9 & O e e

() semE
st gl
(iii) TR A geeE
(iv)
e S % ol -
(v) Tl e St A 6] TG b T T
T i ETE § HE I A
(1) (i), (i) AT (v)
2) (i), (ii) 3R (iii)
(3) (i) (iii). (iv) 3 (V)

(4 (@), (i), (i), (V) B
127,

antt w1 & o e el foh, eilmite
Y F TN INA T AR @R EE 77
(2) UHS. IHR
(3) oyt T (4) Teor ot

iy sfreor fadas @ik T | T
Tl | W gt o1 2

(Y 09 (2 10 (3) 1l (4) 05

28

123.

124.

126.

127.

128.

@
125.

in which district- of Rajasthan a war
Museum is built up which was
inaugurated recently ?

(1) Jodhpur - (2) Jaisalmer
(3) Barmer (4) Sirohi
Match List — 1 with List — I and select

the correct answer by using the codes
given below :

List— | List — I
A. 11 July i. World Literacy
b Day
B. 12 August ii. National Sports
Day ‘
C.29 August iii. International
Youth Day
D.8 September iv. World
. Population Day
Codes : ‘
A ¢ D
(1) i 1v i il
2y i i i iv
Gy ivo i di
iv i1 i

Government of India has launched a
scheme of “Housing for All” by the year
(1y 2020 - {2) 2021
(3) 2022 (4) 2023

 The Thrust Areas of Atal Mission for

Rejuvenation and Urban

Transformation (AMRUT) include

(i} Water supply

(ii) Sewerage facilities

(iii) Public Transport facilities

(iv) Creation of parks and recreation
centres especially for children.

(v) Storm water drain to reduce
flooding o

Select the correct answer from the

codes given below :
(1) (i), (i) and (v)
(2) (i), (ii) and (iii)
(3) (ii), (i), (iv) and (v)

(4) (i). (i), (iii). (iv) and (v)

Who said, recently, that ‘The Future of
India as a democratic countryis at risk’ ?
(1) Richard A. Falk(2) M.J. Akbar
(3) Arundhati Roy (4) Kiran Bedi

Land Acquisition Bill was passed by
Lok

Sabha . with  how  many
amendmients 7 '
M 0 ()10 311 @05
00
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133.

135,

136.
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00

(3) W
- 9 % 5w o= 4 g F R

T T (2015) et Tee defres
<t ¥ T vge e st &
() wfmhst  (2) Frem gy
(3) wenfm (4) A e
WRA 7 foha ot w1 seier o Brde 3w
GRS ST & 7 ‘

(1) 22 (2) 20

3) 10 4) 15

R THIT I GG ST 7 SR7F &

(1) T3 7FYA o R 3 8 ST |

(2) T et @t 507 Suerey aRT |

(3) STH-YT FHT B YT §96T

(4) B =UR ' wE T S
foreitar TreTaem Suersy T |

ﬁm@mﬁw‘ﬁﬂiﬁqWWﬁr%?

(1) 15 o7red (2) 21 se
(3) 2250 " (4) 21 faamR

88% TeheH! TrHEHR ¥ KT * “3iiwhT SR
& arem % w9 ¥ fewet Frafem gt o
(1) idwrsale  (2) wern st
(4) 3THIET TTeIRT

STeTeh! 7 WievTd Ieaay € 7

(1) e 3w (2) TErEE
(3) TRET (4) fer
“Z W W Wy Ug golue AEEH” &
AGH BT 8 7 _
() FErdR (2) ToHH bl
() WS - (4) TH @
¥ & W gd S aentsl @ HIL
et H WY HET e et & o 0
(1) stwrmEm i (2) v i

(3) W fae (4 wiER g

2015 ¥, Tufsrcar 87 § iR % fe weraE
e @ R wemst et fepar o

(1) <. 1o yrifear

(2) i WM e

(3) o F% 3waw

(4) <. g gae
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129,

130.

132.

134,

135.

136.

137.

Who won Silver Medal in World
Badminton Championship this year
(2015) ?

(1) SaniaMirza (2) Nisha Siddhu

(3) Martina Hingis (4) Saina Nehwal

After how many years India has won
Cricket Test Series in Sri Lanka ?

() 22 (2) 20

(3) 10 4) 15

. The Mudra Yojana of the Government

of India is designed to

(1) Initiate reforms in the currency
management o

(2) Provide loans to poor farmers

(3) Supplement the Jan Dhan Yojana

(4) Provide easy financial assistance
to set up small businesses

Civil Service Day is celebrated on

(1) 15" August (2) 21% April

(3) 22" June * (4) 21" September

. Who has been appointed chairman of

India’s Oscar Jury for the 88"
Academy Awards ?
(1} Girish Karnad (2) Shabana Azmi

(3) Anupam Kher (4) Amol Palekar

Which Indian State has the highest
percentage of children suffering from

~ malnutrition ?

(1) Madhya Pradesh(2) Rajasthan
{3) Jharkhand (4) Bihar

“Two Years Eight Months and Twenty-
Eight Nights” is a book written by

(1) Ruskin Bond (2) Sulman Rushdie -
(3) Jhumpa Lahari (4) Jai Ram Ramesh

In the recently held HIL auction, the
costliest Indian Hockey player was

(1) Akashdeep Singh

(2) Sandeep Singh

(3) Mandeep Singh

(4) Dharamveer Singh

Who among following from Rajasthan
was awarded Padmashri in 2015 for
contribution to medicine ?

(1) Dr. Ashok Pangaria

(2) Dr. Rajesh Kotecha

(3) Dr. K.K. Agarwal

(4) Dr. Saumitra Rawat
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AT ? '
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(3) =is (4) T
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®/e? _

(1) 2013 & 3T 112 7 = a1g H 7
g |

(2) IR Tegufet & HETH oA T
(3) o v §1 3 Faurdl o |
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1 T OB e W@
forgar ST e 2015 W B A R B
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(1) S T oERm (R
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W o & W
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T T I T f o R S
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1 T4 HiAT ¢
(1) (a) 3R (b)
2) (a), () FR(c)

(3) A (d)
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() wERR [ (4) v Al
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138.

140.

141.

142,

In which country. teacher's day is
called ‘Hari Guru’?

(1) India
(3) Thailand

~ (2) Nepal
4 Malaysia

_ Which one of the following is not

correct about Ranchhor Bhai Rebari g

(1) He died at the age of 112 year in
2013. . :

(2) He was awarded the President
Medal.

(3}

(4

He was a soldier in Indian Army.
International post of Sui village in
Gujarat has been given the name
as Ranchhordass post.

Which one of following is the theme
of the World Population Day 20157

(1) Vulnerable populations in
~ emergencies. _
(2) A time to reflect on population
trends and related issues.
(3) Focus is on Adolescent
pregnancy.
(4) Universal access to reproductive

health services. ~

Consider the followings about Raja
Ramanna :

(a) He had directed the team of
scientists which carried out the
test of nuclear device. '
He  was awarded
Vibhushan in 1976.

He was made Union Minister of
State for Defence in 1990.

He had written a book entitled
“The Structure of Music in Raga
“and Western System’.

Select the correct answer by using
code given below :

(1) (a)and (b)

(2) (a), (b)and (c)
(3) (d)only

(4) (a), (b). (c) and (d)

. Padma

)
(c)
(@

Which one of following Goddess
Temples is situated in Sambhar Lake?
(1) Shila Devi

(2) Bawan Devi

(3) Shakumbhri Devi
(4) Kunjal Mata

00
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TR “
' LT [

HEHTA T & el 3 S & 915
GarQ HEveqUT STt ST St e

(1) TEFEHETH

(2) gEEAF A

(3) wiufawferFwEUA .

(4) WEHFH - L
25 U, 1948 %t i YgRT T i
T AT ST T e

(1) S ARMEY S (2) TR AT ST

(3) MFE A g (4) et e

I, S 39 =1 frew & foe faeam &
(1) Hieten (2)

(3) TR (4) A
gfera AifE

A, FEREE i 9REY

B. @R i, HORW 9T
C. VI EIF i, K G

D. far amaoi v, AUEH AW
_?fA B C D

i 1 v i

2) v i i i

3 w1 i v

§4§ iooi v i
Frfoafed 4 @ &R W giw arr =6t & 9
(i) gER (i) FremsT
- (iii) , APTHUY (iv) AT

el foepey '

(1) (i) 7 i) (2) (iii) = (iv)
() BT (V) - (4) (ii), (i) T (iv)
T T St g

(1)  HREAT - SER

(2) <SmSEE o<

(3) HEERR D EIET

(4) IR . R

1920 & 396 T Ui AR % 3T

149.

150.

00

¥ R e /@ 9 sEER w5
U9 o 2

(1) ®Wen g (2) R suam
(3) HeiwwEE  (4) THARMET S
fr=fofEa 0 & v oo % e
<t Teett frenforer @iy stirele gemiol
THTET 7T o ? '

(1) ST (2) fommrt =wieget

(3) TERE iR (4) TERM g

143,

144,

145,

147.

148.

149.

150.

- terracotta craft :

. (3) Sanganer
146.

- (i) - Surnai

(3) Prithviraj-li

The most important officer after the *~
ruler in the kingdoms of medieval
Rajasthan was knownas

(1) Mahamatya  (2) Mukhya Mantri
(3) Sandhivigrhik (4) Pradhan .

Who was appointed as. the -Chief ..~
Minister of the quted Rajasthan which
was formed on 25" March, 1948 9~

(1) Jai Narayan Vyas =~

(2) Gokul Lal' Asava

(3) Gokul Bhai Bhatt

(4) Heera Lal Shastri '

The place which is famous for its

(2) Kaithun
- (4) Kuchaman

Match the following :

(1) Molela

Author _

Book : _
A. Hammirayan 1i. Badar
B. Veermayan ii. -Mancharam
Sevay '
C. Raghunath . iii. Dursa Adha
Rupak ' ' :
D. Kirtar Bavani iv. Bhandau Vyas
Codes : o

A B C D

(1) il IS A § O
2) iv 1 i iii
3) i 1 i v
4y i v o1l

Identify the instrument/s which is/are
not aérophone. = o
(i) Algoja

(111} Nagtani - (tv) Kamayacha
Choose the correct option :
(1} (1) and (iii) (2) (i) & (Gv)

{3) Only (iv) (4) (i1), (i) & (iv)
Choose the incorrect pair :

~ Waterbody  Location (district)
(1) Kayalana =~ Jodhpur
(2)  Chand Baodi — Dausa

(3) Ghadsisar - Bikaner

(4) GapSagar -~ — Dungarpur-

In_ 19205, with the objective of
political awakening “who™~ published
newspaper ‘Rajasthan’ from Beawer.?

1 ishi Dutf Mehta

éz Haribhau Upadhyay
3) Maunshi Samarthdan - .
(4) Ram Narayan Chaudhari L
During the reign of which of the«: "
following rulers the Delhi-Shivalik
pillar inscription was inscribed ?

(1) Arnoraj (2) Vigrahraj-1V
(4) Prithviraj-11I
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